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All questions are compulsory.

Internal options are given in Question Nos, 10. 11,16,

17,18, 19 and 22.

Question Nos. 1 to 6 are Very Short Answer Type

Questions. Answer in about 30 words each.

Question Nos. 7 to 12 are Short Answer Type Questions.,

Answer in about 50 words each.

Question Nos. 13 to 17 are Short Answer Type Questions.

Answer in about 75 words each.

Question Nos. 18 to 22 are Long Answer Type Questions.

Answer in about 150 words each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.



- g

1, e s ada o= s 7

M—4

What is oil slick ? 2
2. TWHY HyeV THAT § HERTES IR B F SIRET 9y e |

Draw labelled diagram of oxygen evolves during photosynthesis. <
8. wal " w1 faw fafea

Write the law of Conservation of Energy. 2
4, AETR % 31 3vam fafe

Write two uses of Biogas. 2
5. WA {8 wme £ ? oA = fatv= ven fefag

What is Reproduction ? Write the different kinds of Reproduction, 2
6. JEUEME 9 A9 N HEIE £ 7

What do you mean by Plant Hormones ? 2

What is the role of technology in Industrial Revolution ? 3
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8. ifg= gl H 1o 999 S EE gEyreat G Tifed ? FE |9 fAEa |

What precautions should be taken while using physical balance ?
Write any three.

9. HWF F1 TAfargy den = wed E 7
Why is nephron called dialysis bag ?
10. =1 991 736 8§ a=% fafad
Write the differences between Blood and Lymph.
Agar
(Or)
gHrETEs & %=1 fafad )

Write down the functions of Haemoglobin.

T1: [qtﬁa T‘ﬁ E 22| rc:ﬁ’i 3 7 stishl| THM:h{up ﬁ;ﬂ H?{ﬁ %-;- 7

What is Backlesh error ? How is it avoided ?

Haar
(Or)
TR #1 f7= 0.1 3497 3in segam= 0.0005 35151 778 =a a7 F

.

& 71 F5 |
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Pitch of Spherometer is 0.1 cm and least count is 0.0005 cm.

Calculate the number of divisions on head scale. 3

12. 7 & 3091 & =i g8 § sem- e fawitee o= A9 e W

TEAE 7

Magnet cannot be separated into North pole and South pole.

Why ? 3

13. HTell % Heww w1 famr gfes Tummed |

Explain in detail the corrosion of metals. 4
14, T¥ B39 (9Sr) W9 S 9995 |

Explain green house effect. 4
15. ¥l &1 qorl 8 SR A9F A= 351 F & 7

Why is charcoal good fuel in comparison to wood ? 4
16. T Hau 4 Fad & 7 99954

What is Tissue Culture ? Explain.
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EPCH
(On)

Write main functions of brain.

17. fve" 3 =0 592w 41 7 v =1 e wemed
What is Fermentation ? Explain the importance of Fermentation.
Hegar
(Or)
YA T vETHeSETE 1 A TR w4
Differentiate between Respiration and Breathing.

18. FA9qvES ¥ 33Uz FT AT F 1 9AUMH B OHFG £ 7

What will be the result of absence of decomposers in an

ecosystem 7
Adan
(Or)

Differentiate between Food chain and Food web.
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19,

20.

27.

SRR =1 3095 9 W fem s & 7 sfas avia wifs

How is Hydroelectricity generated ? Explain with diagram.

Hgar
(Or)

Describe the Solar Cell Panel with diagram. Write down the
advantages of solar cell panel. 5
UIEZ 27 2191 2191 F1EA & 3T9TEY 7. W] TTEE T i fegd = e
Graphite and Diamond both are the allotropes of carbon, but
graphite is = good conductor of heat and electricity while diamond

is not, why ? Explain. 5
TEEF SiE @ s sfafen § 59w wre T

Differentiate between a Chemical reaction and a Nuclear

reaction. 5
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22. FF=EEE, Fe-GEF g U8 Wog=a g S5d] 1 3580 Ofeg gEene |

Explain Paramagnetic, Ferromagnetic and Diamagnetic substances

with example.

A4

(On

e vy fF8 Fed ¥ 7 SMETW #9 TS 40T mE e 9
wfaty = 53 fafed |
What is an Electrical Resistance ? In series and parallel, find the = ™=

formula for the total resistance in each case. 5
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vt~ (i) a4 v sfEd g

(i) w99 %A% 9, 11, 16, 17, 19, 21 & 22 ¥ Fafw fawes @ ™

e

(i) wo =5 19 6 75 @4 =0 ST 999 & | 5edF WA 1 5 9T

30 vr=1 § 3194 |
(iv) W99 F97 7 | 12 7% 7% 909 W99 & | WS W9 F S e
50 =1 | Stfed

(V) w99 FH= 13 § 17 9F 779 S0F 999 & | 5% 999 Fl I07 a7
75 wi=1 | Aiferd |

(vi) w39 F9TF 18 T 22 75 <19 3909 994 7 | ed WY F1 39 w9
150 9I=31 9 5if=d |

(vii) =3 F=vEF B, == THitE 59 99

(vil) == v % To9 s=ien % 9% 99E #Fa o
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Note : (i)

(ii)

(i)

(iv)

(v)

(vi)

(vii)

(viii)

(2)

All questions are compulsory.

Internal options are given in Question Nos. 9, 11, 16, 17,
19, 21 and 22.

Question Nos. 1 to 6 are Very Short Answer Type
Questions. Answer in about 30 words each.

Question Nos. 7 to 12 are Very Short Answer Type

Questions. Answer in about 50 words each.

Question Nos. 13 to 17 are Short Answer Type Questions.

Answer in about 75 words each.

Question Nos. 18 to 22 are Long Answer Type Questions.

Answer in about 150 words each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.

1. oA I amgd & 2

What do you mean by Contaminated Water ?

K—4037-B1
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( 3)

2. FHa giamm w1 fram fafan

Write the Law of Conservation of Energy. )
3. W Hyewmvl fwa 1 v gHE Fi geEar 3 e Fifa

Define Photosynthesis with the help of chemical equation. 2
4. IFNEFNE ?

What is Biogas ? 2

5 amafieafFasmad ?

What is external fertilisation ? 2
6. gy uf~y A= afse =0 T & 2

Why is pituitary glénd called master gland ? 2
7. ¥ Seel = AW fafen fasi fretateas = afesn ot

(31) W9 35

(F) .23 Freaws

(¥) EEmE |

Write the names of scienstists who invented the following :

(a) Steam engine

(b) D.D.T. insecticides

(c) Dynamite. 3
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( % )

8. =L HamE & 399 fwEn |
Write down the uses of Vernier Callipers. 3
9. frem A Fm eM T 7 3895 U %4 FWE 7
What is Backlesh error ? How is it avoided ?
T
(Or)
T 1 g 0.1 991, @R Fegaars 0.0005 T4 &1 9ird =her 97 91

Pitch of Spherometer is 0.1 cm and least count is 0.0005 cm.

Calculate the number of divisions on head scale. 3
10. 9% = =1 fofEn |
Write down the functions of kidney. 3

11, 9EEW T8 s § s fare |
Write down the difference between Xylem and Phloem.
Haar
(Or)
HHE 552 &1 FAGY F1 F0F FI1T |

Explain the working of human heart. 3

K—4037-B1

M-5




12. fom ufiffdl § e = T s s T ?
Under which conditions is Magnetism destroyed ? 3
13, ¥ iR 39 A o0 e F 9
Compare the physical properties of metals and non-metals. 4
14, 97 % W@ TEUF e & T fAE | F R B8 W E
Name the main pollutants in air. How are they originated ? 4
15, == F1 g 8 B9F =1 FeE 76 # AfaF & 7
Why is the calorific value of methane higher than butane ? 4
16. fFves @ 51 T9E 71 7 TEUAd #1 e SHATEA |
What is Fermentation ? Explain the importance of Fermentation.
Hgar
(Or)
Differentiate between Respiration and Breathing. 4
17. gfg =1 fafa= sEesl =1 597 S |

Describe different stages of growth.
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(6 )

FgaT
(On)
FreiuT 2EH (ABA) s foaifes % vqa 514 fafau
Write functions of growth inhibitors (ABA) and Gibberellins. 4
18. Th1EE R 0 SH1 FTeA % TWEY §, T WEee T IR forgm w1 gaes
& waf® # 7E, F 7 gogEd |
Graphite and diamond both are the allotropes of carbon, but
graphite is a good conductor of heat and electricity while diamond
is not, why ? Explain. 5
19. WFfa § Seras F1 9 Hifag |
Describe water cycle in nature.
AEr
(On
AEere =5 T 199 %1 Gerdal 3 T |

Explain Nitrogen Cycle with the help of diagram. 5
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HEdr
(On)
Tere wiauy 8 20 § ? 39 9o = fou 3551 90 fea-f9 = s sy

FATE 7
What is Electric resistance ? On what factors for a solid conductor
does it depend ?
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Aot~ (i) =1 9w afad B

(i) ¥ =9 8, 11, 15, 17, 18, 20 U5 22 ¥ 371w fawe3 T

i

(iii) o3 FHF 1 H 6 7F A0 1Y ITOF WA & | WoAE WY F I AT

30 =1 | Fifa |

(iv) 999 F87F 7 H 12 7% o S009 U943 & | ToI W9 1 39 A

50 vTeEi o SifoTg |

(V) w99 FHF 13 9§ 17 75 o0 3909 599 & | TF U9A &1 9 04T
75 W=1 5 e |

(vi) ¥99FHF 18 F 22 7% =19 3909 W5 ¢ | ToIF WYA F1 397 7047
150 ¥1=] § ZIT=d |

O

(Vi) =8 SavaE B, == A6 dF 5 |

= e
——r—

T = . v IS e = = el =
{"-.I"III] ATHT A% o jeia Adicd A JHF HHHE 3chd & |
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Note : (i) All questions are compulsory.

(i) Internal options are given in Q. Nos. 8,11, 15, 17, 18, 20
and 22,

(i) Q. Nos. 1 to 6 are Very Short Answer Type Questions,

Answer in about 30 words each.

(iv) Q.Nos.7to 12 are Short Answer Type Questions. Answer

in about 50 words each.

(v) Q.Nos. 181017 are Short Answer Type Questions. Answer

in about 75 words each.

(vi) Q.Nos. 181022 are Long Answer Type Questions. Answer

in about 150 words each.
(vii) Draw neat and clean labelled diagram wherever required.

(viii) Marks allotied to each question are mentioned against

the question.
1. s i s s g T T I e 7
Which main salts are found in the Sea water ?
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(3)

2. iar giw g e € 7

What are Solar devices ? 2
3. =yl Uuw FE FEA E 2

What is Autotrophic Nutrition ? 2
4, Foit g = fgw fafan

Write the law of conservation of Energy. 2
5. arten ¥ fgmves fafy | yomm +1 Tmifea faz =33

Draw labelled diagram of Binary Fission in Amoeba, 2
6. e st o e 3

What is Medulla Oblongata ? 2
7. ‘Ol | fawr @ ¥ e g gaged

“Technology leads to development.” Explain with the help of

example. 3
8. e e dni e ? mw T FAFWE ?
What is Backlesh Error ? How is it avoided ?
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Hgar

(Or)
TRTHT 1 T 0.1 ¥t 3R sregemiss 0.0005 &5 21 vird wher w7 symii =7
HET TE FITS |
Pitch of Spherometer is 0.1 em and least count is 0.0005 cm.

Calculate the number of divisions on head scale. 3
9. iz oin wiey vfyEl ¥ st == Fifsm | (F1F 99)

Differentiate between Vector and Scalar quantities. (Any

three) 3
10. i & verdl = witaes =1 fafid =1 fafg

Describe transportation method of material in plants. 3

11, 99 B B So5sT JaT9l & Soqei ®1 [a-Tary ausmey |

Explain the mechanism of excretion of nitrogenous waste producis

through kidney.

K—4037-C1
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12.

13.

14.

15.

(5)
HAGCT
(On)
o & st Tl # S A SR S 3w |

Describe the excretory organs found in the body of human other

than kidney. 3
AT TS AR T E 2 W § 3 39dn i e s ¥ 2

What are safety fuse wires ? Why are they used in homes ? 3
Ul & e svEm fafen | (FE =)

Write main uses :ij metal. (Any four) 4
AR HgeE § gell F1 giEE T Hii

What is the role of trees in balancing the environment ? 4

farvas § =41 I9%d & ? fFva =1 e 9REEd |

What is Fermentation ? Explain the importance of Fermentation.

T
(On)
oA T YrEeEad 3 &R w9 Sig |
Differentiate between Respiration and Breathing. 4
K—4037-C1 Turn Over
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16. MR A SR R A R A= s Hi wea £ 7
Why is digestion of food in the body called slow combustion ? 4
17, =1f% vadq S ey £ 7
What are the uses of vegetative propagation ?
Hqar
(On)
How is it possible to control Fertilization ? 4
18. wreTfare #1 39 e war frn ¥ 7 afey avi #if
How is Hydroelectricity generated ? Explain with diagram.
3r9ar
(On)
AR ¥9 Te =1 gfes av i IR He T =1 swEf fafen
Describe the solar cell panel with diagram. Write down the

advantages of solar cell panel. 5
K—4037—-C1
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19.

20.

21.

( 7 )
g safars 71 § 2 Aiusm fafEol 8 89 9 e ens g9 5
fafam |

What are Nuclear Wastes ? Write the harmful effects of nuclear

radiations. 5

How are modern agriculture practices harmful for the

environment ?
srear
(Or)
iitfrafas foafas =0 8@ & 2 goemsd
What is an Ecological Pyramid ? Explain. 5

UHTEE SN B S Hl6 5 TREY ¢, T T2 T 0d foem +1 gam

¥, SafsE & 7=, 94 7 999Ed |

Graphite and diamond both are the allotropes of carbon, but
graphite is a good conductor of heat and electricity while diamond

is not, why ? Explain. 5

K—4037-C1 Turn Over
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(8 )

22. T Te & TUS & (95[q W98 4 54 T=0 (571 9al & 2 ¥4 g1 993084 |

How is magnet magnetised by electrical effect ? Explain through

experiment.
S
(Or)
(31) Tomm = i gl s 8 9 s 7 (9 W)

(9) uF a7 & 9= 0.1 form F1 9 weiten & 9 8 @ 39 (G W
3 drez =1 favars e 2 &) a7 = ey F9 S|
(a) Differentiate between an Electro-magnet and a Permanent

magnet. (Any three)

(b) The current flowing through a wire is 0.1 ampere, the potential
difference developed between its ends 3 volts. Calculate the

resistance of the wire.

K—4037-C1
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. (1) u9 w9 HiEEE

(Il) WSFFHE 9, 91,16, 17,19, 21 A7 22 § H=aw faFwey g3 ™
®

(i) w93 =9% 1 H 6 oF WGF WA F1 a7 oH 30 W=l A
LSRN

(V) 9 HEMF 7 H 12 7F IF W9 F] S0 04T 50 V=i A
g |

(v) Y99 FEIF 13 § 17 °F USF e F1 39 o9 75 W=l A

=

(Vi) W99 ¥9/% 18 ¥ 22 7F T9F W95 =1 Su @Ol 150 wi=l H
=T |
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(Vi)
(viii)

Note : (i)
(i)

(i)

(iv)

(v)

(vi)

(vii)

(viii)

(2)

WE ATETEF B, TS AEiwd 59 9y |
ToF WA & ford aafed 3% 399 g HtEa €
All guestions are compulsory.

Internal options are given in Question Nos. 9, 11, 16, 17,
19, 21 and 22.

Answer Question Nos. 1 to 6 in about 30 words each.
Answer Question Nos. 7 to 12 in about 50 words each.

Answer Question Nos. 13 to 17 in about 75 words
each.

Answer Question Nos. 18 to 22 in about 150 words
each.

Draw neat and clean labelled diagrams wherever required.

Marks of each guestion are indicated against it.

1, A 7l & 9% fofen, s s@m dn 3= % e & fFar s &)

Name the elements used in the manufacture of solar cells.

Define saturated solution.

K-4038-A2
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( 3)

3. iy w1 9 TEE fFe FEa ¥ 7

Which is the power house of the cell 7 2
4. FHertEE +1 gtram fEafE |

Write the definition of calorific value. 2
5. df=a % Fs o w/ farad |

Write any two functions of Axon. 2
6. tufgam ufy | wnfan 29 T 2o # 9m f&fEe

Write the name of Hormones secreted by Adrenal gland. 2
7. @ UYE a9 e T S S8 died SRR

Explain the fundamental and derived quantities with

examples. 3
8. W1 1940 F 1950 o%F = W=mT=! fa=Fm@ F1 Fa3u |

Give the technological advances between the period of 1940 to
1850. 3

9. TR TS w1 == THIFG (95 a0 |

Draw a well labelled diagram of screw gauge.

K—4038-A2 Turn Over
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HAIar

(On)

Al = T H 99 2 FAL A gwa A F w5t um 200 § @ = e w

TAAUTF A F T |

(F1he pitch of screw gauge is 2 cm and number of total divisions nf

circular scale is 200, find the least count of screw gauge.
10. A3 & 19 IWA 377 F 30 99 790 F T UE R w1 e |

Write the namessof three excretory organs in human with one
function of each.

1. M4l S vedl # wftaes 51 21 fafiedd fafan
Write two methods of transportation of nutrients in plants
Heaar
(Or)
9l H T 1w e 8 e E 2 gueen
How are gaseous materials excreted in Human ? Explain
12. 9=Fa & S fagr= =i 9 fas s 3 == =it
Write three points of molerular theory of magnetism.

K—-4038-A2
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13.

14.

15,

16.

- 17.

(5 )
A, 9. S TF TS S A ¢ 2
Why is L.P.G. a good fuel ? 4
5 & fafa= s9am fafen
Write down the different uses of water. 4
M T AT, F6E, 'EEeE a1 fFE U 9 e | fFa S
HHFIY g TeEy |
Write only the equation of action of metals with Oxygen, Chlorine,
Hydrogen and any one of dilute acid 4
IyEY e 9=y fFell § s = wHEa § 7
What do you understand by Anabolic and Catabolic activities.
Hgar
(On
YETEE HITH1 T AHIST 93 950 |
Draw a labelled diagram of Palisads cell. <
T T Fi TESq FIE T AHNSa (95 AR

Draw a labelled diagram of longitudinal section of a flower.

K—4038-A2 Turn Over
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(On)
YW oy F1 St aha = e £ 7
Why is pituitary gland known as master gland ?
18. &0 ao dwrse § ey vird=i = U T 37 fafa
(%) Hfasw 1M
(9) Ser=ar (Wiia-3am9)
(|) IgEm

Differentiate between diamond and graphite under the following

headings :
(a) Physical properties
(b) Occurrence

(c) Uses

19. i ¥ 2T =% 31 353 == =1 9ea1 ¥ T9amn |

Describe nitrogen cycle in nature with a suitable diagram.

K-4038-A2
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(7))
rgar
(On)
STaHISE § FE T WO 5 2l £ 2 905 HIe0 |
Explain how energy flows in Biosphere. 5
(1) fagr=
(&) it Ta=a
(%) Frafafy

Explain solar water heater under the following heads :

(a) Principle

(b) Labelled diagram

(c) Mechanism 5
21. 99 E = & 7 3H% H9ga] ¥ AF 991 3939 TarEn |

What is Biogas ? Write the components and uses of biogas.

Hear
(Or)
T 9% 9 9 9Fd & 7 WeE 999 W I9E yuE fEfEn)
What is energy crisis ? Discuss its effect on human society. 5
K—4038-A2 Turn Over
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(8)
22. ﬁﬁaﬁmfﬁﬁxmwmmﬁfﬂaﬂmﬁmﬁmm?w
(&7) refera Tt
(=) fafa =1 303
(H) y& =1 frafg

Explain the divide touch method of magnetization under the
following heads

(a) Labelled diagr;_;:m
(b) Description
(c) Position of poles

Fgar

(Or)
ﬁmﬁmﬁwﬁﬁﬁmmqﬁmwaﬁmﬁa
T |
Write Couiomb's inverse square law of magnetism and define unit
poles.
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Time : 3 Hours Maximum Marks : 756
fder: (i) Tt w9 sifEE 7

(i) W= 9,11, 16,17, 19, 21 377 22 F syafts faweq g 1

Zl

(i) w99 FH® 1 9 6 TF WAF WA F IO oET 30 y=l H
l-rw-ht

(iv) T97 F91% 7 | 12 9% TOF 999 F I 09 50 =l H
g |

(V) 559 FH% 13 § 17 7% o5 99 F S0 o091 75 T=) °

o o S Y

HIEER

(Vi) 795 F9% 18 ¥ 22 7% T Y9 = I oOE 150 w=l 4
Sicef
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( 2 )
(vii) T AT 8, == it fag 39
(viil) w7 w93 % fod smdfen i 303 mogm sifea 5
Note : (i) All questions are compulsory,

(i) Internal options are given in Question Nos. 9, 11, 16, 17,

19, 21 and 22.
(i) Answer Question Nos. 1 10 6 in about 30 words each.
(iv) Answer Quéstion Nos. 7 to 12 in about S0 words each.
(V) Answer Quéstinn Nos. 13 to 17 in about 75 words each.
(vi) Answer Question Nos. 18 to 22 in about 150 words each.
(vii) Draw neat and clean labelled diagrams wherever required.
(viii) Marks of each qguestion are indicated against it.
Define unsaturated solution.
2. =527 (LPG) =1 $=57mm kWh'kg =7z & fafas
Write the calorific value of Butane (LPG) in kWh/kg.
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e b
(On
What is blacklash error ?
10. 79 1940 | 1950 7% = WrEnfT=1 fawm %1 7=

Give the technological advances between the period of 1940 to

1950.
11, T 991 A9H1 7 F13 o 2<% farEn |
Write any three differences between Blood and Lymph.
Hgar
(On)
7 § T werdl F1 Scaes 94 o ¥ 2 §9EEd
How are gaseous materials excreted in Human ? Explain.
12. S99 591 T3] & FE o 0 feie |
Write any three properties of magnetic line of force.
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13. ymgsii W AfFds[, F6RE, TEeen 74 5 = 79 37 § fF Fad

T g fefe

Write only the equation of action of metals with Oxygen, Chlorine,

Hydrogen and any one of dilute acid. 4
14, TE.T1.51. UF T=31 394 51 & 7
Why is L.P.G. a good fuel ? 4
15, 59 = fafvy= 39am fafan)
Write down the different uses of water. 4
16. w9 wyemy foman 1 @it €9 o3 9fed oz
Show the mechanical form of photosynthesis diagrammatically.
HAGCT
(On)
A -5 791 FAEE-YG9T § F12 9N HaL o=y |

Write any four differences between Aerobic and Anaerobic

respiration. 4

K—-4038-B2 Turn Over
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(6 )
What is Placenta ? Write its any two functions.
A
(On)
‘A T wed € 2 SREEg)
What is ‘Synapsis’ ? Explain it.
18. HR v 9% F1 T f=ifen vl $ F=via wirw

{1} B2 Bl

(11) =g ety

(111) Te=fare

Explain solar water heater under the following heads :
(1)  Principle

(i} Labelled diagram

(i)  Mechanism.

19. Fld ¥ 15 =E1ES 95 = Ou=sd |

Explain Carbon dioxide cycle in nature.

K-4038-B2
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20.

21.

Heaar

(On)

A = TFH FEd § 7 39% =00 U4 YEia § Sed =9 F 99 g g9esd |

What is water cycle ? Write its steps and explain water cycle in
nature with the help of diagram. 5

ST & WIS e w5 v it v § i
(1) 3THE" = = AHiEg =
(1) A # 1797 fafy= T w wre g2l % 55

Explain the fractional distillation of petroleum under the following
heads :

(i) Labelled diagram

(i) Name of the products at different temperature due to
distillation. 5

STt faeg =1 3cures fea yen fFmr s £ 2

How is hydroelectricity generated ?

HAgar
(On)
1 §he § I UHES § 7 IS TAN W 36 ¥ e |
What is energy crisis ? Discuss its effect on human society. 5
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22, u fagqa #27 220 V % =@ & 10 A a1 &= 81 I 33 T F
gfafes 5 =2 399 8 & 59 791 30 &5 & faw =d amm 7 1 Ffe
(1 kWh) =71 g2 1 =71 2

An electric heater uses a current of 10 A through a source of
220 volts. If this heater is used 5 hours daily, then calculate the
expenses in 30 days. Rate of 1 unit (1 kWh) = 1 Rupee.

el

(Or)
fgemyt fafy gm ws @99 =1 fafa =1 avis Srefifea vl & o
(i) AEiFa @
(1) fafa =1 a3

(iii) I yal =1 Tt )

Describe double touch method of magnetising under the following
heads :

(i) Labelled Diagram

(i) Description of Method

(iii) Position of Poles Produced.
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U5 FHF 1 H 6 7% WdF 99T T 397 o9 30 V=] H g9 |

UYE HHF 7 9 12 9F 0% 999 1 39 oY 50 II=T ° 2 |

U9 THE 13 9 17 7% 50T 9997 71 59 AT 75 =1 H &1 |

T FHF 18 F 22 TF TS 99 F1 30 o919 150 W=1 B ST |

3 HAEYEE T s A EG 5 aaed |

THE 9 % T2 FEiza 3% 39 ¥E AlFa 5
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Note : (i)

(if)

(Vi)
(vii)

(viii)

All questions are compulsory.

Internal options are given in Q. Nos. 9, 11, 16,17, 19, 21

and 22.

Answer Q. Nos. 1 to 6 in about 30 words each.

Answer Q. Nos. 7 to 12 in about 50 words each.
Answer Q. Nbs. 13 to 17 in about 75 words each.
Answer Q. Nos. 18 to 22 in about 150 words each.
Draw neat and clean labelled diagram wherever required.

Marks allotted to each question are mentioned against

the question.

1. 3% F(E 1 F5398 1 S99 FE8ET U o6 § 2

Which isotope of hydrogen is present in the core (Nucleus) of

Sun ?
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Define super-saturated solution. 2
3. TG F G H ANEA FGF T T Fi w7

Why is charcoal better fuel than wood ? 2
4, MW A EFEE R E 2

Why do plants look green ? 2
5. uilzE g | wifan 81 a weE % 9m fetaa

Write the name of hormones secreted by Thyroid gland. 2

Name the reproductive organs of hermaphrodite flower. 2
7. %1940 ¥ 1950 % == faE =1 gasd |

Give the technological advances between the period of 1940 to
1950. 3

8. Wifas TeN F1 STEF F10 999 T4 7 F=ut=a 51 = § =T 9w ?

What three precautions should be taken while using physical

balance ? ' 3
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Q. THEIHI & == M (97 a5 |
Draw a well labelled diagram of Spherometer.

Agar

(On)

"~ T TS 2l F 5 P w9 g0 W 4 T s agm #) gl S w

g 9 &1 FE== 100 @, @ S T = {99 3 seuants 9 w e

When the circular cap of a screw gauge is rotated 5 times, the
screw shifts by 4 mm. If there are 100 divisions on the circular

scale, find out the pitch and the least count of screw gauge.
10. 5% 1 Sufafaa den #41 F8d & 7
Why is kidney called as dialysis bag ?
11. 5= 8 03 72191 1 3095 w9 2 © 2
How does excretion of gaseous material occur in animals ?
Fear
(On
Write the names of blood corpuscles with their functions.
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12. TEUER F FRT G997 |
Explain the causes of short-circuit.
13. 5@ =% faty= svam fafes |

Write down the different uses of water.

14, ¥qel W TS, FE, wEereE adl FE uE 99 @ |9 A s

HH W gR1 TAfa |

Write only the equation of action of metals with Oxygen, Chlorine,

Hydrogen and any one of dilute acid.
15. TEL.off. uF ST A A w7
Why is L.P.G. a good fuel ?
16. fwveq =1 Ae= fafad |
Write the significance of fermentation.
HLIGr
(On
"IHTHE FE (EY 9 T A5 (94 3905d |
Draw a labelled diagram of ‘Palisade cell'.
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17. % da4= 543 F8d & 7 9932 |

What is tissue culture ? Explain it.

Hgar
(Or)
Write the various functions of Brain. 4

18. #10 forgd =1 oo ¢ FafF TR gaes €1 FR T Hin |

Diamond is a bad conductor of electricity whereas graphite is a

good conductor. Explain with reason. -

19. w&fd | F197 TRATEE 9% F1 997429 |
Explain carbon dioxide cycle in nature.
HAgar
(On)
SIIHIES H F91 1 YA 59 o6l & 7 90 Sifag | -
Explain how energy flows in Biosphere. 5
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20. TR F T Fa § SHTET TS SR YEE F1 =y gied 999 S0

Explain with the help of a diagram how the solar energy is absorbed
and transferred by living organisms, 5

21, wa=ed o7 ol e § 2 wo= wrdfaly gl
What is internal combustion engine ? Explain its mechanisms.
HAgar
(Or)
AiwETa frue =1 Fmited st a9 aviE S

Explain the nuclear reactor with the help of labelled diagram. 5

22, i % fram =1 Feas warnen § 1= v § F#9
(i) ufag =1 ===
(1) F&ror A
(iii) 7% 2 Tt
Verify Ohm'’s law in laboratory on the following heads :
(i) Circuit diagram
(i) Observation table

(iii) Any two precautions.
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HAar
(On
(i) o= vad
(ii) =ire-ger=mTa e
(iii) wfa-g==1a Terd

Explain the following with examples :
(i) Paramagnetic substance
(i) Ferromagnetic substance

(iif) Diamagnetic substance.
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